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Here the basket is below ten 2°rov - "o TR IND

OVERVIEW

The X773 said that our mwn, which is dealing with the 2"7v21 "1v receiving
the objects in baskets, is not in contradiction with the view of *"72 "3 who
maintains that a basket that is '7 9v '7 and is placed "“»n 7%vn? is a *"7n,
because in our 7wy, the baskets were "n 7un>, and are not a *"'137, but a 2",
and therefore he is 2>°11. Our Moo discusses and explains the question and
answer of the X3

mooIn asks:
— MM NY ) 02390 MY MHN KD TINN MYIT 21 9NN ON)
If you will say: granted that if the basket is below ten 2’190 it will not be a
'"119, nevertheless it will not be a 2''19 either -
— 29N INNANY 7T AN DYDY 113) 199 1195 NDNI95 NON
but rather we will consider this basket as a n»n»=3, like a post which is
three or more o°ndv high and has an area of o°nov '7 %¥ '7, which is a

nomI3, so the question is; why is the 2991 2"1¥2 when he placed the object into
the s™1v basket; since the basket has the status of a n°»n73, there was no 2"7772 amn.

mooIN answers:
— D992 5’91995 PNRT 9D YN
And one can say; that there is no n°>»95 17 by utensils -
- 23999 NN NP NNPN 233 YNPY YT YIAY 1
As "w1 explains later in the (X,7 77) X713 regarding the case where one’s
box was lying in the 1"77 etc. Therefore the 97070 is considered a 71"mM.

nvoIn asks:
- 3]\’)‘,7): YW INYT Yy NHY NN PN 13939 NYp

The 3''1 has a difficulty; What did the J2p» originally think when he asked

" mno "7 x,1. The X»3 says there, that if the box was '7 2an "» ming, one is permitted to transfer objects
from the box to the 2"77. *"w questions this ruling, since the box is a n°7173, how may we transfer from a
7" to a nM1a? "W answers that "X 9991 X1 2290 nnn 2k 1320 I RS, that the 2°non did not
make a 77°13 to nullify it from the status of 0°%3 since it is a °23. A N> therefore can only be a (fixed)
object (in a 1"717), not a (moveable) utensil. Therefore [according to N50IN] the basket will remain a 7"7".

* See nmx now. See “Thinking it over’ #1.

3 See 27171 MW, Hw naw. See ‘Thinking it over’ #2.
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that according to °"12 "1 the basket should be a >"717, and the X3 answered that it is
lower than ten 2’90 -

— DTN 5292 Y019 2297 NIQ NDA /919 NVND Y9991 PIINNT Y15 TN DyT
for the jwpn obviously knew that our mwn is in a case where the P00
was placed below ten o°1ov in the 7"71 regardless of any difficulty with

5''12 5'""9, meaning that even if we do not agree with >"2 >" that we say P°OX T3 to
make the basket a >"717, nevertheless we must say that the basket was below ten 2’190 -

— *Nraby 99195 295M1 NI NIV DIPN 9N 31 NYPNIY Yot
for everything above ten 2°150 in a 7"77 is a M2 2P and no one will say

that he is 291, for there is no prohibition at all for transferring an object to a Mwd 1Py,
so obviously the 7wpn understood that the s"1¥ basket was below ten 0’1150

— DTN’ 292 DY 2291 7299 NN )9 ON)

So why does the 7wpn ask that according to 3'"92 "' the basket is a >"711, when
the 7wpn is well aware that the object was placed below ten 219y -

— PN MY MM XD 1 NVNYT NN NVIVIT NN NN
For it is most elementary that lower than ten o°rov there is no >'';11 -

— 77 0%N9 72 DY) DNY YIUN NN MOIIN (x,08 971mp%) PINNL 1P 19N XNT
for we have learnt later in a 7w, in 91177 29, “the surrounding wall of
a pit, and a boulder which are ten o°nov high and have an area of 75y '7
onov, the PTis —

— 9109 X MND 2N 13X JY 1NN DN VNN
whoever takes an object from on top of them and places it in a 7"77, or
whoever takes an object from the 17"77 and places it upon them he is 3%77;
if the size of the pit’s wall or the boulder are less than either ten 2°19v high
or four 0°’rdY wide, he is W, for it is not a > -

— 75 NYYNY RHN 999N D AINY %292 YD) Y397 XVIV)
And it is therefore obvious that 5''92 31 is discussing only a case where

the basket is above ten 2°19Y from the ground. Why then did the jwpn ask his
question when the s'R73 answer " 7vn? 18> must have been obvious to the Jwpn. NMooIN
offers no answer to this question.’

SUMMARY
A %7 1n a 1"71 does not become a nv9n72; rather it remains in the confines of
a 1", as opposed to other objects that do become either a 2Ipn R N°on71

* See “Thinking it over’ # 4.
> See X"2w". See ‘Thinking it over’ # 3.
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7109 in the 2"77. It is assumed that an 7737 77°PY in a 7"772 HPo1w, must be
1 uno, because "1 YRS is a MWL QPA.

THINKING IT OVER
1. °"w1 was quoted® as saying, 2°93 nMA 225 1327 M &Y, which seems
different from the way mpo1n may have understood *"w1."

2. There seems to be no connection between *"% 7w to what preceded it”.

3. Can we distinguish between a basket hovering in the 7"777, and a post that
is resting on the 1"77, in regards to its status as a n"on15?'°

4. If the 2"7v3a puts the object into the hand of the *1v which is higher than
ten 2°119v from the "7 ypp, will he be 21 or Mwp?'!

% See footnote # 1.

7 See Footnote # 2.

8 See 27171 1w and X"ow.

? See Footnote # 3.

10'See Footnote # 5 and X"ow.

' See footnote # 4. See 1271 N9 and X* MR IR™MK DRI,

3

TosfosInEnglish.com



